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Here are some shapes on a 1cm square grid. —

Write the letter of the shape that has the smallest area.
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D What is the perimeter of shape A?

\‘ cm

USRI SLROLI | a2 has some identical rectangles.

They are 7 centimetres long and 2 centimetres wide. %
/7cm
N What is the perimeter of the large rectangle?
2cm ot :
actual size

She uses five of her rectangles to make the large rectangle below.

\‘ cm

What is the area of the large rectangle?

\ om?



https://www.youtube.com/watch?v=87rqah_gAaQ&index=5&list=PLS3PH82bo0VBgaF4RCu1nFganpFTSFBqV
https://www.youtube.com/watch?v=Ph5Ad86N2-M&list=PLS3PH82bo0VAkEKofuCdfPUAD5mwjbv5U&index=13
https://www.tes.co.uk/teaching-resource/Y6-KS2-SATs-mental-maths-question-generator-program-interactive-and-self-marking-11013595

FAVOL N CYAOIVEN Here are six rectangles on a grid. 2007A KS2 Q14 Y&!!

Here is a grid of regular hexagons.

The shaded shape has an area of 3 hexagons and
A a perimeter of 14cm.

Draw another shape on the grid which has
an area of 4 hexagons and a perimeter of 14cm.
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Which two rectangles fit together, without overlapping,
to make a square?
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Match each shape on the left to one with equal area

on the right.
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https://www.youtube.com/watch?v=ckXiWrmJH-E&list=PLS3PH82bo0VBJMWhA_KgnmlCz7eYt4Ic0&index=12
https://www.youtube.com/watch?v=VwBaPyUGJw0&list=PLS3PH82bo0VBdGoHWY0PRNLHEZaRU1Yqy&index=13
https://www.youtube.com/watch?v=Zs0VT-ko65Y&index=20&list=PLS3PH82bo0VACc6WGPYZNEN468cuoU-Mp

2001A KS2 Q25 This Is a centimetre grid.

Draw 3 more lines to make a parallelogram
with an area of 10cm?2

Use a ruler.



https://www.youtube.com/watch?v=Nw8e8W4b-Gg&list=PLS3PH82bo0VCqE0GWRWRiDdD4jM58yTbl&index=1

